Algebra 11
3-1
Slope

ise_ yY,-4

Slope - ™M = s -
ran >z _xl L

Positive Slope - qu-.l | )

leFé 4o right

Negative Slope - ah.ll Koz
Ig‘-“. h fc'aiu'

Zero Slope - ‘\M";‘&M"ﬂ‘) Y= lhnes

Nosiope- y@Ptreal, x= fies

Give the slope of each line shown.
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Find the slope of the line containing the given points. (pg 116)
If the line has no slope, write, "vertical".
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Find the slope of each line. (pg 116)
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Graph the line through point P having slope m. Find the value of & so that the given line has slope m.
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Need: 1 Sheet of Graph Paper




